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3. lim (2 - 2)#(5) =

r—1-

4. The critical numbers of the function f(z) = (1+z+z)e™*
are:
(a) Oand 1
(b) Oonly
(c) lonly
(d) Dand —1

() land —1
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3.

The function f is such that f(1) = 5 and f'(x) < 2 for all
values of z. The value of f(3) could be equal to:

3 9.2
If f(z) = 2z 5 ST+ 5, an equation of the oblique (slant)
24z

asymptote for the graph of f is:

(a) y=2z—5
(b) y =2z -3
() y=x+3
(d) y=3z+1

(e) y=3r—-2

[MASTER]
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7. The linear approximation of f(x) =In(e+tan z}at a =0
1s given by '

2. 4
8. If the graph of f(z) = 51‘“ + Ar? — 3% + B + 1 has a local
minimum at the point (1,1}, then 34 + 98 =:
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9.

10.

. 1 1
lim { ——— — = | =
r—0t ln(:r: + 1) xr

The sum of the absolute maximum and the absolute min-
imum values of the function f(z) = 2sin(z) + cos(2z) on

the interval [0; g] is:
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11.

12.

The slope of the normal line to the curve described by
2z + y

= 5Iny + 32" at the point. (1,1) is:

The equation f(z) + f"(z) = 1 is valid for all values of z.

If F'(x) is an antiderivative of f(x) such that F(0) = —1
and F(1) =2, and f'(0) = 2, then f’(1) is equal to:
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13.

14.

et —ax—1
z—0 T

(d) 1

(e) Does not exist
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T2 + 3

15. lim —— =
== /4 + 2‘1-2

16.  The function f(z) = z° — z*

1
(a) decreasing on (—5, l)

1
(b) decreasing on (—gc’ —3

(¢c) decreasing on (1, 00)
(d) decreasing on (—o0, 00)

(e) increasing on {—oc, oc)

—x 18

)
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17.

18.

The function f(x) =e* — 2% is

(a) concave-down on {—o0, 0]
(b) concave-up on (—o0, 0]
(c) concave-down on [0, oo}
(d) concave-up on [0, co)

(e} concave-down on (—o0, 00)

z? it <2
mr+b if z>2

i) =

is differentiable everywhere, then m — b =
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19.

20.

The function f(x) = (2z — 7)v/z? — 1 has a:

(a) local minimum at £ = 2.
(b) local minimum at T = 2 and a local maximum at T
(C) local maximum at T = 2.
(d) local maximum at T = 2 and a local minimum at X

(e) local maximum at £ = 2 and a local minimum at T

If 22+ zy + 3 = 1, the value of y” at the point where z = 1

1s equal to

Page 10 of 14
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21.

22.

If 4z + 3y = 7 is the tangent line to the graph
of x%y + ay® = b at the point (1,1), then a + b =

[N

b (SVER

—
o
-
o R

The area of an equivalent triangle is expanding with time.
When the side is 4 inches long, the area increases at a rate of
V3 in? /sec. The side’s length at that moment is increasing
at the rate:

(a) % in/sec

(b) 1 in/sec
(c) V3 in/sec
(d)

in/sec

>l

1.
(e) zl—m/sec
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23.

24.

If f(z) = (224 1)}(3z+2)*(4z +3)3(5z +4)*, then f/(—1) =

—40

—28

Page 12 of 14

Using Newton’s Method to estimate the value of

V7, starting with zo = 1, z; =

B3| W

Wi~ Wi
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[z|]+ 3, —2<z< -1
25, If f(z) = A
+ $2, -1 <z <?2
24z
is continuous at z = —1, then the value of A is:

26.

([|z]] : greatest integer of x)

The antiderivative F'(x) of the function
_ 3+ 102°

f(x)_TO—\/T

+ e* such that F(1) =e is:

3 2 N
(a) 3\/5+3\/:E+e*—1

(b) gﬁ+§@+eI—l
. 3 .
(c) g\/i+g\/:§+e"‘—1

1 4
(d) 5\/5+5\/F+et1

2
(e) §@+5«$—s+eu1
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27.

28.

The area (in units®) of the largest rectangle that could be
inscribed in a semicircle of radius 1 is

A particle is moving along a quarter circle of equation
22+ 4% =4; z > 0;y > 0. How fast is the particle’s
y-coordinate changing at the point (1, +/3) if its z-coordinate
is increasing at the rate of 2 unit/sec.

2
(a) ——= unit/sec

V3

(b) —2v/3 unit/sec
2 :

(c) 73 unit/sec

(d) 2v/3 unit/sec

(e) 24 V/3 unit/sec



